

# Alternating Polynomials Associated with the Chebyshev Extrema Nodes

L. BRUTMAN

*Department of Mathematics and Computer Science,  
University of Haifa, Haifa, Israel*

*Communicated by T. J. Rivlin*

Received August 26, 1985

By analogy with Lagrange interpolation, the fundamental alternating polynomials are introduced. The interlacing property of the zeros of these polynomials corresponding to the Chebyshev extrema nodes is established. The behavior of the corresponding Lebesgue function is studied. In this study our main tool is a relationship between this function and the corresponding Lebesgue function induced by the interpolation. Taking advantage of our previous result concerning interpolation, a new estimate for the norm of the alternating operator is obtained. This result gives an affirmative answer to a question posed by Cheney and Rivlin. © 1988 Academic Press, Inc.

## 1. INTRODUCTION

Let  $X = \{x_k\}_{k=0}^{n+1}$ ,  $-1 \leq x_{n+1} < x_n \cdots < x_1 < x_0 \leq 1$  be a set of  $n+2$  distinct points in  $[-1, 1]$ , and denote by  $C[-1, 1]$  the Banach space of continuous functions on  $[-1, 1]$  equipped with the uniform norm. To each  $f(x) \in C[-1, 1]$  there corresponds a unique interpolation polynomial

$$L_{n+1}(X; x) = \sum_{k=0}^{n+1} f(x_k) l_k(X; x), \tag{1}$$

where

$$l_k(X; x) = \prod_{\substack{i=0 \\ i \neq k}}^{n+1} (x - x_i) / (x_k - x_i).$$

$L_{n+1}(X)$  may be interpreted as a projection of  $C[-1, 1]$  onto the subspace  $\pi_{n+1}$  consisting of all polynomials of degree  $\leq n+1$ . In [3] the author introduced the (generalized) alternating polynomials  $A_n(X; x)$  which are

related to the interpolation polynomials induced by the same set of nodes in the following way:

$$A_n(X; x) = L_{n+1}(X; x) - \frac{f[x_0, x_1, \dots, x_{n+1}]}{2^n} T_{n+1}(x), \quad (2)$$

where  $f[x_0, x_1, \dots, x_{n+1}]$  is the divided difference of  $f(x)$  on the point set  $X$  and  $T_n(x) = \cos(n \arccos x)$ . Relation (2) shows that the  $A_n$ -polynomials may be derived from the corresponding interpolating polynomials by applying one step of the Lanczos economization technique.  $A_n(X)$  may also be viewed as a projection of  $C[-1, 1]$  onto  $\pi_n$ .

Of special importance in applications are sets of nodes satisfying

$$\operatorname{sgn}[T_{n+1}(x_k)] = (-1)^k, \quad k = 0, 1, \dots, n+1. \quad (3)$$

For such sets the  $A_n$ -polynomials coincide with the particular case of the next-to-interpolatory polynomials in the sense of Motzkin and Sharma [8] (see [3] for details).

Let  $A_n$ -polynomial be represented in the "Lagrangian" form:

$$A_n(X; x) = \sum_{k=0}^{n+1} f(x_k) a_k(X; x). \quad (4)$$

Then by analogy with the interpolation, it is natural to call  $a_k(X; x)$  the fundamental alternating polynomials. Relation (2) yields

$$a_k(X; x) = l_k(X; x) - \frac{1}{2^n \omega'(x_k)} T_{n+1}(x), \quad (5)$$

where  $\omega(x) = \prod_{j=0}^{n+1} (x - x_j)$ . The arrangement of the roots of the fundamental polynomials  $a_k(X; x)$  is of great importance in our study. It can be easily seen that if, in addition to (3), the nodes  $\{x_k\}_{k=0}^{n+1}$  satisfy  $|\omega'(x_k)| > 2^{-n}$ ,  $k = 0, 1, \dots, n+1$ , then each  $a_k(X; x)$ ,  $k = 1, 2, \dots, n$ , has  $n-1$  distinct real roots on  $(x_{n+1}, x_0)$  and hence an additional root outside  $[x_{n+1}, x_0]$ . Moreover, all the roots of  $a_0(X; x)$  and  $a_{n+1}(X; x)$  lie in the interval  $(x_{n+1}, x_0)$ . In order to obtain additional information concerning the location of the roots of  $a_k(X; x)$ , we have to restrict ourselves to specific sets of nodes.

In the present paper we deal with the Chebyshev extrema nodes  $X = U = \{\cos[k\pi/(n+1)]\}_{k=0}^{n+1}$ . In Section 2, two lemmas concerning the fundamental polynomials  $a_k(U; x)$  are proved. In Lemma 1, the interlacing property of the roots of the fundamental polynomials  $a_k(U; x)$ ,  $k = 0, 1, \dots, n+1$ , is established, while in Lemma 2 we estimate the "degree of the orthogonality" of  $\{a_k(U; x)\}_{k=0}^{n+1}$  with respect to the Chebyshev

weight. Section 3 is devoted to the study of the corresponding Lebesgue function defined by  $\mu_n(U; x) = \sum_{k=0}^{n+1} |a_k(U; x)|$ . Our main tool here is a relationship between  $\mu_n(U; x)$  and the corresponding Lebesgue function induced by the interpolation  $\lambda_{n+1}(U; x) = \sum_{k=0}^{n+1} |l_k(U; x)|$ . By making use of the interlacing property of the roots of  $a_k(U; x)$ ,  $k = 0, 1, \dots, n + 1$ , and taking advantage of our previous result concerning interpolation, we obtain a new estimate for the operator norm of  $A_n(U)$ . This estimate gives an affirmative answer to a question posed by Cheney and Rivlin in [5]. The paper is concluded with an observation concerning the mean square convergence of the  $A_n(U; x)$ -polynomials. This observation serves as an illustration of the general principle, which says that the laws of the asymptotic distribution of nodes are not fine enough to characterize completely the behavior of the alternating process.

2. THE FUNDAMENTAL POLYNOMIALS  $a_k(U; x)$

Let  $U = \{\eta_k = \cos[k\pi/(n + 1)]\}_{k=0}^{n+1}$ . It follows from (5) that

$$a_k(U; x) = l_k(U; x) - \gamma_k \frac{(-1)^k}{n + 1} T_{n+1}(x) \tag{6}$$

with  $\gamma_k = 1$  for  $k = 1, 2, \dots, n$  and  $\gamma_0 = \gamma_{n+1} = \frac{1}{2}$ .

The fundamental polynomials  $a_k(U; x)$  may also be expressed in terms of the Chebyshev polynomials

$$a_k(U; x) = \frac{2\gamma_k}{n + 1} \sum'_{m=0}^n T_m(\eta_k) T_m(x), \tag{7}$$

where  $\sum'$  denotes a sum whose first term is halved. By applying to (7) the well-known Christoffel–Darboux identity, one can easily derive the following useful representation which is due to Eterman [6] (see also Meinardus [7]):

$$a_k(U; x) = \frac{\gamma_k (-1)^k [T_n(x) - \eta_k T_{n+1}(x)]}{(n + 1)(\eta_k - x)}. \tag{8}$$

We proceed now to prove the following property.

LEMMA 1. Let  $I_j = [\eta_j, \eta_{j-1}]$ ,  $j = 1, 2, \dots, n + 1$ . Each  $a_k(U; x)$ ,  $k = 0, 1, \dots, j - 2, j + 1, \dots, n + 1$ , has a real root  $r_k^{(j)}$  on  $I_j$ . These roots are ordered as follows:

$$\eta_j < r_{j+1}^{(j)} < r_{j+2}^{(j)} < \dots < r_{n+1}^{(j)} < \xi_j < r_0^{(j)} < r_1^{(j)} < \dots < r_{j-2}^{(j)} < \eta_{j-1}, \tag{9}$$

where  $\xi_j = \cos[(2j - 1)\pi/(2n + 2)]$ .

*Proof.* We start by verifying that the roots of  $a_k(U; x)$  for  $k \leq j-2$  and  $k \geq j+1$  are separated by the "middle" point  $\xi_j$ . Using (8), we get

$$\begin{aligned} \operatorname{sgn}[a_k(U; \xi_j)] &= (-1)^k \operatorname{sgn}[T_n(\xi_j)] \operatorname{sgn}[\eta_k - \xi_j] \\ &= (-1)^{k+j+1} \operatorname{sgn}[\eta_k - \xi_j] \\ &= (-1)^{k+j+1}, \quad k=0, 1, \dots, j-2, \\ &= (-1)^{k+j}, \quad k=j+1, \dots, n+1. \end{aligned} \quad (10)$$

Next, by virtue of (6),  $\operatorname{sgn}[a_k(U; \eta_j)] = (-1)^{k+j+1}$ ,  $j \neq k$ , and hence  $r_k^{(j)} \in (\eta_j, \xi_j)$  for  $k=j+1, \dots, n+1$ , while  $r_k^{(j)} \in (\xi_j, \eta_{n-1})$  for  $k=0, 1, \dots, j-2$ . Thus to prove the lemma it suffices to show that  $\operatorname{sgn}[a_k(U; r_{k+1}^{(j)})] = (-1)^{k+j}$ ,  $k=0, 1, \dots, j-3, j+1, \dots, n$ . Representation (8) reveals

$$\begin{aligned} \operatorname{sgn}[a_k(U; r_{k+1}^{(j)})] &= (-1)^k \operatorname{sgn}[T_n(r_{k+1}^{(j)}) - \eta_k T_{n+1}(r_{k+1}^{(j)})] \operatorname{sgn}[\eta_k - r_{k+1}^{(j)}] \\ &= (-1)^{k+1} \operatorname{sgn}[T_{n+1}(r_{k+1}^{(j)})] \operatorname{sgn}[\eta_k - r_{k+1}^{(j)}]. \end{aligned} \quad (11)$$

We have used in (11) the fact that  $r_{k+1}^{(j)}$  is the root of  $a_{k+1}(U; x)$  and hence  $T_n(r_{k+1}^{(j)}) - \eta_{k+1} T_{n+1}(r_{k+1}^{(j)}) = 0$ . It remains to note that for  $k=0, 1, \dots, j-2$ ,  $(-1)^{j-1} T_{n+1}(r_{k+1}^{(j)}) > 0$  and  $\eta_k - r_{k+1}^{(j)} > 0$ , while for  $k=j+1, \dots, n+1$ ,  $(-1)^j T_{n+1}(r_{k+1}^{(j)}) > 0$  and  $\eta_k - r_{k+1}^{(j)} < 0$ . This concludes the proof of Lemma 1.

In the next lemma, the "degree of the orthogonality" of the fundamental polynomials  $a_k(U; x)$ ,  $k=0, 1, \dots, n+1$ , with respect to the Chebyshev weight is estimated.

LEMMA 2.

$$\int_{-1}^1 (1-x^2)^{-1/2} a_k(U; x) a_l(U; x) dx = \begin{cases} \frac{(-1)^{k+l+1} \gamma_k \gamma_l \pi}{(n+1)^2}, & k \neq l, \\ \frac{\gamma_k \pi}{n+1} \left( 1 - \frac{\gamma_k}{n+1} \left( 1 - \frac{\gamma_k}{n+1} \right) \right), & k = l. \end{cases} \quad (12)$$

*Proof.* Upon using representation (7) and well-known properties of the Chebyshev polynomials  $T_n(x)$ , we obtain

$$\begin{aligned} \int_{-1}^1 (1-x^2)^{-1/2} a_k(U; x) a_l(U; x) dx &= \frac{2\gamma_k \gamma_l \pi}{(n+1)^2} \sum_{m=0}^n T_m(\eta_k) T_m(\eta_l) \\ &= \frac{\gamma_l \pi}{n+1} a_k(U; \eta_l). \end{aligned} \quad (13)$$

On the other hand, relation (6) reveals

$$a_k(U; \eta_l) = \begin{cases} = \frac{(-1)^{k+l+1} \gamma_k}{n+1}, & l \neq k, \\ 1 - \frac{\gamma_k}{n+1}, & l = k. \end{cases} \quad (14)$$

Combining (13) and (14) completes the proof of the lemma.

### 3. THE LEBESGUE FUNCTION $\mu_n(U; x)$

By analogy with the interpolation, the Lebesgue function  $\mu_n(X; x)$  associated with the alternating operator  $A_n(X)$  is defined as

$$\mu_n(X; x) = \sum_{k=0}^{n+1} |a_k(X; x)|. \quad (15)$$

It is known (see, e.g., [4]) that the operator norm of  $A_n(X; \cdot)$ , as an operator on  $C[-1, 1]$ , equals the sup norm of its Lebesgue function:

$$\|A_n(X)\| = \max_{-1 \leq x \leq 1} \mu_n(X; x). \quad (16)$$

In this section we study the behavior of  $\mu_n(U; x)$ . Our main tool is a relationship between this function and the corresponding Lebesgue function  $\lambda_{n+1}(U; x)$  induced by the interpolation. As before, we denote by  $r_k^{(j)}$  the root of  $a_k(U; x)$  lying on  $I_j = [\eta_j, \eta_{j-1}]$ ,  $j = 1, 2, \dots, n+1$ . Our attention will be restricted to the study of  $\mu_n(U; x)$  on the "middle" subintervals  $I_{j,0} = [r_{n+1}^{(j)}, r_0^{(j)}]$ . By virtue of Lemma 1,

$$\begin{aligned} \mu_n(U; x) &= \sum_{v=0}^{j-1} (-1)^{j+v+1} a_v(U; x) \\ &\quad + \sum_{v=j}^{n+1} (-1)^{j+v} a_v(U; x), \quad x \in I_{j,0}. \end{aligned} \quad (17)$$

On the other hand, the corresponding Lebesgue function induced by the interpolation  $\lambda_{n+1}(U; x)$  may be written as

$$\begin{aligned} \lambda_{n+1}(U; x) &= \sum_{v=0}^{j-1} (-1)^{j+v+1} l_v(U; x) \\ &\quad + \sum_{v=j}^{n+1} (-1)^{j+v} l_v(U; x), \quad x \in I_j. \end{aligned} \quad (18)$$

Combining (17), (18), and (6) we obtain, after some simplification,

$$\lambda_{n+1}(U; x) - \mu_n(U; x) = \frac{(-1)^j(n+2-2j)}{(n+1)} T_{n+1}(x), \quad x \in I_{j,0}. \quad (19)$$

It follows from (19) that  $\lambda_{n+1}(U; \xi_j) = \mu_n(U; \xi_j)$ ,  $j = 1, 2, \dots, n+1$ . (Moreover, if the number of nodes is even,  $n = 2N$ , then  $\lambda_{2N+1}(U; x)$  coincides identically with  $\mu_{2N}(U; x)$  for  $x \in I_{N,0}$ .) Since, on the other hand,  $\|L_{2N+1}(U)\| = \lambda_{2N+1}(U; 0)$  (see, e.g., [1]),  $\|A_{2N}(U)\| \geq \|L_{2N+1}(U)\|$ ,  $N = 0, 1, 2, \dots$ . This inequality has been noticed by Cheney and Rivlin in [5]. They also remark: "We don't know whether it is also true for the odd case." The following theorem contains an affirmative answer to this question.

**THEOREM 1.**

$$\|A_n(U)\| \geq \|L_{n+1}(U)\|, \quad n = 0, 1, 2, \dots \quad (20)$$

*Proof.* We need consider only the odd case,  $n+2 = 2N+1$ ,  $N = 1, 2, \dots$ . It is known (see, e.g., [1]) that  $\lambda_{2N}(U; x)$  attains its maximal value in the interval  $I_N = [\eta_N, \eta_{N-1}]$ . Therefore, we can restrict ourselves to a comparison of  $\mu_{2N-1}(U; x)$  and  $\lambda_{2N}(U; x)$  for  $x \in I_N$ . The idea of the proof is to show that for any  $x \in I_N$  there exists a point  $z \in I_N$  such that  $\mu_{2N-1}(U; z) \geq \lambda_{2N}(U; x)$ . Denote by  $F_{2N-1}(x)$  the continuation of  $\mu_{2N-1}(U; x)$ ,  $x \in I_{N,0}$  as a polynomial on the interval  $I_N$ . It is clear that  $\mu_{2N-1}(U; x) \geq F_{2N-1}(x)$ ,  $x \in I_N$ , and hence it suffices to show for any  $x \in I_N$  the existence of  $z \in I_N$  (depending on  $x$ ) such that  $F_{2N-1}(z) \geq \lambda_{2N}(U; x)$ ,  $x \in I_N$ . To this end we apply the trigonometric substitution  $x = \cos(\Theta_{N-1} + \Theta)$ ,  $\Theta_{N-1} = (N-1)\pi/2N$ ,  $0 \leq \Theta \leq \pi/2N$ , and put  $\Phi_{2N-1}(\Theta) = F_{2N-1}(\cos[\Theta_{N-1} + \Theta])$ ,  $\lambda_{2N}(U; I_N, \Theta) = \lambda_{2N}(U; \cos[\Theta_{N-1} + \Theta])$ . By virtue of (19) we have

$$\Phi_{2N-1}(\Theta) - \lambda_{2N}(U; I_N, \Theta) = \frac{(-1)^{N+1} \cos(2N\Theta)}{2N}, \quad 0 \leq \Theta \leq \frac{\pi}{2N}. \quad (21)$$

Now we apply the following formula, which estimates the "degree of asymmetry" of the Lebesgue function  $\lambda_{2N}(U; I_n; \Theta)$  (see [2]):

$$\begin{aligned} & \lambda_{2N}\left(U; I_N, \frac{\pi}{2N} - \Theta\right) - \lambda_{2N}(U; I_N, \Theta) \\ &= \frac{\sin(2N\Theta)}{2N} \left\{ \tan\left(\frac{\pi}{4N} - \frac{\Theta}{2}\right) - \tan\frac{\Theta}{2} \right\}. \end{aligned} \quad (22)$$

Upon comparing (22) and (21), we find that the following inequality has to be verified:

$$\frac{\cos(2N\theta)}{2N} - \frac{\sin(2N\theta)}{2N} \left\{ \tan\left(\frac{\pi}{4N} - \frac{\theta}{2}\right) - \tan\frac{\theta}{2} \right\} > 0, \quad 0 < \theta < \frac{\pi}{4N},$$

or equivalently

$$H_{2N}(\theta) \equiv \cot(2N\theta) - \tan\left(\frac{\pi}{4N} - \frac{\theta}{2}\right) + \tan\frac{\theta}{2} > 0, \quad 0 < \theta < \frac{\pi}{2N}. \quad (23)$$

Since  $H_{2N}(0) > 0$  and  $H_{2N}(\pi/4N) = 0$ , it is sufficient to show that

$$H_{2N}(\theta) = \frac{1}{2 \cos 2\left(\frac{\theta}{2}\right)} + \frac{1}{2 \cos^2\left(\frac{\pi}{4N} - \frac{\theta}{2}\right)} - \frac{2N}{\sin^2(2N\theta)} < 0, \quad \theta \in \left(0, \frac{\pi}{4N}\right).$$

But  $\cos^2(\theta/2) > \cos^2(\pi/4N - \theta/2)$ ,  $0 < \theta < \pi/4N$ , and hence it remains to check that

$$\sin^2(2N\theta) < 2N \cos^2(\pi/4N - \theta/2), \quad 0 < \theta < \pi/4N,$$

or, finally, that

$$\sin(2N\theta) < \sqrt{2N} \cos(\pi/4N - \theta/2), \quad \theta \in (0, \pi/4N), \quad N = 1, 2, \dots$$

This last inequality follows immediately from the fact that

$$\sqrt{2N} \cos(\pi/4N - \theta/2) > 1, \quad \theta \in (0, \pi/4N), \quad N = 1, 2, \dots$$

This completes the proof of the theorem.

*Remark.* For the upper bound of  $\|A_n(U)\|$ , the following estimate is due to Cheney and Rivlin [5] (see also Phillips and Taylor [10]):

$$\|A_n(U)\| < \|L_{n+1}(U)\| + 1. \quad (24)$$

Notice that this estimate follows immediately from (6). We performed some intensive numerical calculations which indicate that when the number of alternation points is even,  $\max_{-1 \leq x \leq 1} \mu_n(U; x) = \mu_n(U; 0)$ , while for odd number of points,  $n + 2 = 2N + 1$ , the Lebesgue function  $\mu_{2N-1}(U; x)$  attains its maximal value in the subinterval  $I_{N,0}$ . Assuming these facts to be true, one can conclude

$$\|A_{2N}(U)\| = \|L_{2N+1}(U)\|, \quad N = 0, 1, \dots \quad (25)$$

$$0 < \|A_{2N-1}(U)\| - \|L_{2N}(U)\| < \frac{1}{2N}, \quad N = 1, 2, \dots \quad (26)$$

## 4. CONCLUDING REMARKS

As was mentioned in the Introduction, the  $A_n(U; x)$ -polynomials may be considered as a special case of the next-to-interpolatory polynomials, which have been introduced and studied by Motzkin and Sharma in [8, 9]. In particular, since the nodes  $\eta_k = \cos[k\pi/(n+1)]$ ,  $k=0, 1, \dots, n+1$ , are known to coincide with the roots of  $T_{n+2}(x) - T_n(x)$ , one can apply Theorem 7 of [9] to obtain

$$\lim_{n \rightarrow \infty} \int_{-1}^1 [f(x) - A_n(U; x)]^2 dx = 0 \quad (27)$$

for any  $f(x) \in C[-1, 1]$ . In the above setting,  $U$  denotes the infinite matrix of nodes whose  $n$ th row is  $(\eta_{n+1}, \eta_n, \dots, \eta_0)$ . Note also that (27) may be proved directly by applying to  $A_n(U; x)$  the standard Fejer technique and making use of Lemma 2. On the other hand, it was shown in [9] that for the matrix  $\tilde{U}$ , obtained from  $U$  by deleting the end points  $\pm 1$ , there exists a function  $f(x)$ , continuous on  $[-1, 1]$ , such that

$$\lim_{n \rightarrow \infty} \int [f(x) - A_n(\tilde{U}; x)]^2 dx = \infty. \quad (28)$$

This example serves as an illustration of the general principle, which says that the laws of the asymptotic distribution of nodes are not fine enough to characterize completely the behavior of the alternating process.

## REFERENCES

1. L. BRUTMAN, On the Lebesgue function for polynomial interpolation, *SIAM J. Numer. Anal.* **15** (1978), 694-704.
2. L. BRUTMAN, A note on polynomial interpolation at the Chebyshev extrema nodes, *J. Approx. Theory* **42** (1984), 283-292.
3. L. BRUTMAN, Generalized alternating polynomials, some properties and numerical applications, *IMA J. Numer. Anal.* **6** (1986), 125-136.
4. E. W. CHENEY AND K. H. PRICE, Minimal projections, in "Approximation Theory" (A. Talbot, Ed.), pp. 261-289, Academic Press, New York, 1970.
5. E. W. CHENEY AND T. J. RIVLIN, Some polynomial approximation operators, *Math. Z.* **145** (1975), 33-42.
6. I. I. ETERMAN, Approximation of functions by asymptotic polynomials, *Izv. Vyssh. Uchebn. Zaved. Mat.* **6** (1962), 162-171 [in Russian]; MR 30#4105.
7. G. MEINARDUS, "Approximation of Functions: Theory and Numerical Methods," Springer-Verlag, New York, 1967.
8. T. S. MOTZKIN AND A. SHARMA, Next-to-interpolatory approximation on sets with multiplicities, *Canad. J. Math.* **18** (1966), 1196-1211.
9. T. S. MOTZKIN AND A. SHARMA, A sequence of linear polynomial operators and their approximation-theoretic properties, *J. Approx. Theory* **5** (1972), 176-198.
10. G. M. PHILLIPS AND P. J. TAYLOR, Polynomial approximation using equioscillation on the extreme points of Chebyshev polynomials, *J. Approx. Theory* **36** (1982), 257-264.